Editor comments on ACP-2014-174.
Line 57 it would be more proper to say ‘a variety of mechanisms’ than ‘the mechanistic variety’.

Line 132. “acidize” should be ‘acidify’.

Line 178. “matters” should be ‘compounds’.
Line 260. The phrase “should be relative with” would be better stated ‘should be related to’.
Line 261. “to be calculated’ should be ‘to calculate’.

Line 265. “was” should be ‘were’.

Line 269. “were” should be ‘is’ because it refers to the mean transport time (singular).

Line 342. When you say “balanced to each other” aren’t you really saying that they have seemed to have reached a steady state? It would be better to say it in those terms.
Line 346. With the above language changed, you would then say instead of  “the balanced samples” (which I had a hard time understanding), ‘the samples at HONO and NO2 steady state’.
Line 365. “carbons” should be ‘carbon’.

Line 391. “Figure 12” should be ‘Figure 10’.

Lines 419-426. It seems you have mixed up the old figure numbers with the new figure numbers, please check all of these numbers.

Line 428. Instead of “scope of this work” it would be better to say ‘completely out of the range of the nighttime correlations’. 
Line 454. “matters’ should be ‘matter’.
Figure 9 caption. Instead of “balanced samples” should be ‘samples at steady state’.

